187/Math UG/1st Sem/MATH(H)/CC-2-T/19

U.G. 1st Semester Examination - 2019

MATHEMATICS
[HONOURS]

Course Code : MATH(H)/CC-2-T
Full Marks : 60 Time : 21 Hours

The figures in the right-hand margin indicate marks.

Symbols have their usual meanings.

1. -~ Answer any ten questions: 2x10=20

30

i)  Find the value of (1+i\/§)

!
iy df x+;=200s-g-, then find the value of

s

iii) Find the remainder when 3x*—4x3+2x>-9x+1"
is divided by 2x+1.

iv) Find the value of (4+3\/-%)% +(4.— 3\/%)%

[Turn over]
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